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Numerical Example to Compute Deciles of Ungrouped Data
Given the data set 3, 6, 9, 12, 15, 18, 21, 24, 27, 30, 33, 36, 39, 42, 45, 48, 51, 54, 57 and 60,
calculate 3rd and 7th deciles.

Computing Deciles

Given data set: 3, 6, 9, . . . , 60
To find the 3rd decile
we will use the position formula:
Position of Dk = k·(n+1)

10
where n = 20
Position of D3 = 3·(20+1)

10 = 6.30
D3 is located between
the 6th and 7th values,
which are 18 and 21
D3 = 18 + (0.3 × (21 − 18))
D3 = 18 + 0.9 = 18.90
Thus, the 3rd Decile (D3) is 18.90.

To find the 7thdecile we will use the position
formula:

Position of Dk = k·(n+1)
10

where n = 20
Position of D7 = 7·(20+1)

10 = 14.70
D7 is located between the
14th and 15th values,
which are 42 and 45:
D7 = 42 + (0.70 × (45 − 42))
D7 = 42 + 2.1 = 44.1
Thus, the 7th Decile D7 is 44.10
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